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Question Id : 68634039801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



Read the passage carefully and answer the question.

All over the world the wild fauna has been whittled down steadily and remorselessly. and many lovely and
mteresting animals have been so reduced in numbers that. without protection and help, they can never re-
establish themselves. If they cannot find sanctuary where they can live and breed undisturbed. their numbers
will dwindle until they join the dodo. the quagga. and the great auk on the long list of extinct creatures.

Of course. in the last decade or so much has been done for the protection of wild life: sanctuaries and reserves
have been started. and the reintroduction of species mto areas where it had become extinet 1s taking place. In
Canada. for instance. beavers are now being reintroduced into certain areas by means of aero plane.

But although much is being done. there is still a very great deal to do. Unfortunately. the majority of useful
work in animal preservation has been done mainly for animals which are of some economic importance to
man and there are many obscure species of no economic importance which. although they are protected on
paper. are mn actual fact being allowed to die out because nobody. except a few interested zoologists. considers
them important enough to spend money on.

As mankind increases year by year. and as he spreads farther over the globe burning and destroying. it is some
small comfort to know that there are certain private individuals and some institutions who consider that the
work of trying to save and give sanctuary to these harried animals 13 of some importance. It 1¢ important for
many reasons, but perhaps the best of them 1s this: man for all his genius, cannot create a species. nor can he
recreate one he has destroyed. So until we consider animal life to be worthy of the consideration and reverence
we bestow upon old books and pictures and historic monuments, there will always be the animal refugee living
a precarious life on the edge of extermination. dependent for existence on the charity of a few human beings.

Sub questions

Question Number : 1 Question Id : 68634039802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

1. More Zoos

| S]

. Allocation of more funds
3. Sanctuaries
4. Loa against destruction of wild life

Options :

686340157201. 1
686340157202. 2
686340157203. 3
686340157204. 4

Question Number : 2 Question Id : 68634039803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Animal species should be preserved mainly because

1. man cannot recreate a species of animal if it be destroyed
2. zoologists want to study them
3. they are killed by cruel people
4. they are lovely creatures

Options :

686340157205. 1

686340157206. 2

686340157207. 3
686340157208. 4

Question Number : 3 Question Id : 68634039804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

1. Sympathy

| S

. Cruetly
3. Pity

4. Reverence

Options :

686340157209. 1
686340157210. 2
686340157211. 3
686340157212. 4

Question Number : 4 Question Id : 68634039805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following types of animals does man chiefly protect?
1. Harmless animals
2. Economically useful
3. Those without any shelter
4. Feeble animals
Options :
686340157213. 1

686340157214. 2
686340157215. 3



686340157216. 4

Question Number : 5 Question Id : 68634039806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The wild life 1s about to become extinet mainly because:

1. people kill animals callously

2

. there are very few places reserved for wild animals

L 5]

. people are ignorant
4. there are few institutions for preservation of wild life

Options :

686340157217. 1
686340157218. 2
686340157219. 3
686340157220. 4

Question Id : 68634039801 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the question.

All over the world the wild fauna has been whittled down steadily and remorselessly. and many lovely and
mteresting animals have been so reduced in numbers that. without protection and help, they can never re-
establish themselves. If they cannot find sanctuary where they can live and breed undisturbed. their numbers
will dwindle until they join the dodo. the quagga. and the great auk on the long list of extinet creatures.

Of course, in the last decade or so much has been done for the protection of wild life: sanctuaries and reserves
have been started. and the reintroduction of species into areas where it had become extinct 1s taking place. In
Canada. for instance, beavers are now being reintroduced into certain areas by means of aero plane.

But although much 1s bemg done. there 1s still a very great deal to do. Unfortunately. the majority of useful
work in animal preservation has been done mainly for animals which are of some economic importance to
man and there are many obscure species of no economic importance which. although they are protected on
paper, are in actual fact being allowed to die out because nobody. except a few interested zoologists, considers
them important enough to spend money on.

As mankind increases year by year. and as he spreads farther over the globe burning and destroying. it is some
small comfort to know that there are certain private individuals and some institutions who consider that the
work of trying to save and give sanctuary to these harried animals 13 of some importance. It 1¢ important for
many reasons. but perhaps the best of them 1s this: man for all his genius. cannot create a species. nor can he
recreate one he has destroyed. So until we consider animal life to be worthy of the consideration and reverence
we bestow upon old books and pictures and historic monuments, there will always be the animal refugee living
a precarious life on the edge of extermination. dependent for existence on the charity of a few human beings.

Sub questions



Question Number : 1 Question Id : 68634039802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following would prove most effective in preserving wild life?
1. More Zoos
2. Allocation of more funds
3. Sanctuaries
4. Loa against destruction of wild life
Options :
686340157201. 1
686340157202. 2

686340157203. 3
686340157204. 4

Question Number : 2 Question Id : 68634039803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Animal species should be preserved mainly because

1. man cannot recreate a species of animal if it be destroyed

-2

. zoologists want to study them
3. they are killed by cruel people
4. they are lovely creatures

Options :

686340157205. 1

686340157206. 2

686340157207. 3
686340157208. 4

Question Number : 3 Question Id : 68634039804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

1. Sympathy

J

. Cruetly
3. Pity

4. Reverence

Options :



686340157209. 1
686340157210. 2
686340157211. 3
686340157212. 4

Question Number : 4 Question Id : 68634039805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following types of animals does man chiefly protect?

1. Harmless animals

J

. Economically useful
3. Those without any shelter

4. Feeble animals

Options :

686340157213. 1
686340157214.2
686340157215. 3
686340157216. 4

Question Number : 5 Question Id : 68634039806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The wild life is about to become extinet mainly because:
1. people kill animals callously
2. there are very few places reserved for wild animals

3. people are ignorant

4. there are few institutions for preservation of wild life

Options :

686340157217. 1
686340157218. 2
686340157219. 3
686340157220. 4

Sub-Section Number : 2
Sub-Section Id : 6863401308
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634039807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Synonym of the word 'CELESTIAL' 1a:

1. Solar

| S

. Gralactic
3. Astral

4. Heavenly

-

Options :

686340157221. 1
686340157222. 2
686340157223. 3
686340157224. 4

Question Number : 6 Question Id : 68634039807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the word 'CELESTIAL' 1s:

1. Solar

| S]

. Galactic
3. Astral

4. Heavenly
Options :
686340157221. 1
686340157222. 2
686340157223. 3
686340157224. 4

Question Number : 7 Question Id : 68634039808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the following options:

India is one of the richest countries the world in terms of biodiversity. Due anthropogenic
activities, many species have lost their habitat and even become extent. International Union
conservation nature and natural resources has categorized with flora and fauna into eight categories.

1. in, of, to. for

[ ]

.of. to, of, m

L]

.in, for. of, to
4. . to, for, of

Options :

686340157225. 1
686340157226. 2
686340157227. 3
686340157228. 4

Question Number : 7 Question Id : 68634039808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the following options:

India is one of the richest countries the world in terms of biodiversity. Due anthropogenic
activities. many species have lost their habitat and even become extent. International Union
conservation nature and natural resources has categorized with flora and fauna into eight categories.

1. in, of, to. for

k-2

. of, to. of, in
3.1, for. of to
4. in. to. for. of

Options :

686340157225. 1
686340157226. 2
686340157227. 3
686340157228. 4

Question Number : 8 Question Id : 68634039809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with suitable word from the options given below:
Light n a straight line.

1. goes

| B

. shines
3. moves
4. travels

Options :

686340157229. 1
686340157230. 2
686340157231. 3
686340157232. 4

Question Number : 8 Question Id : 68634039809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

Light n a straight line.

1. goes

| B

. shines
3. moves
4. travels

Options :

686340157229. 1
686340157230. 2
686340157231. 3
686340157232. 4

Question Number : 9 Question Id : 68634039810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which word is not the synonym of 'Colossal'.

1. huge

| ]

. gigantic
3. connmence

4, enormous



Options :

686340157233. 1
686340157234. 2
686340157235. 3
686340157236. 4

Question Number : 9 Question Id : 68634039810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which word is not the synonym of 'Colossal'.

1. huge

(]

. gigantic
3. conumence

4, enormous

Options :

686340157233. 1
686340157234. 2
686340157235. 3
686340157236. 4

Question Number : 10 Question Id : 68634039811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Correct the sentence by replacing the under lined phrase:

Those who are indecisive can be readily persuading to change their mind again.

1. can be readily persuasive

| )

. can be readily persuaded
3. could be ready to persuade
4. can be ready persuading

Options :

686340157237. 1
686340157238. 2
686340157239. 3
686340157240. 4

Question Number : 10 Question Id : 68634039811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Correct the sentence by replacing the under lined phrase:

Those who are indecisive can be readily persuading to change their mind again.

1. can be readily persuasive

-

. can be readily persuaded
3. could be ready to persuade
4. can be ready persuading

Options :

686340157237. 1
686340157238. 2
686340157239. 3
686340157240. 4

Question Number : 11 Question Id : 68634039812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the value of

16+4=4 —3+2

| )
|
e

Options :

686340157241. 1
686340157242. 2
686340157243. 3
686340157244. 4

Question Number : 11 Question Id : 68634039812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the value of

16+4=4 —3+2

| )
|
e

4. 15

Options :

686340157241. 1
686340157242. 2
686340157243. 3
686340157244. 4

Question Number : 12 Question Id : 68634039813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cardboard box of dimensions 80 em = 60 cm x 75 em is to be constructed. Find the cardboard required (in
m?) for the box.

1.4.3

[ BO)
>
=]

4. 3.06

Options :

686340157245. 1
686340157246. 2
686340157247. 3
686340157248. 4

Question Number : 12 Question Id : 68634039813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A cardboard box of dimensions 80 ¢m = 60 cm x 75 cm is to be constructed. Find the cardboard required (in
m?) for the box.

1.4.3

| )

.4.16

4. 3.06

Options :

686340157245. 1
686340157246. 2
686340157247. 3
686340157248. 4

Question Number : 13 Question Id : 68634039814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fruit vendor bought apples for T 6.000. He sold 40% stock with 25% profit. another 40% stock with 15%
profit and the rest with 10% profit. Find his profit percentage.

1.21%

| B}

. 19%

. 18%

LF¥]

4.18.5%

Options :

686340157249. 1
686340157250. 2
686340157251. 3
686340157252. 4

Question Number : 13 Question Id : 68634039814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fruit vendor bought apples for  6,000. He sold 40% stock with 25% profit. another 40% stock with 15%
profit and the rest with 10% profit. Find his profit percentage.

1.21%

| B

. 19%

. 18%

L¥¥]

4.18.5%



Options :

686340157249. 1
686340157250. 2
686340157251. 3
686340157252. 4

Question Number : 14 Question Id : 68634039815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the three numbers. first number is twice of the second number and thrice of the third number. The
average of their reciprocals 1s 1/6. The numbers are:

1.6.3.

[ S

| Be]

C8. 4

| ]

3.12.6,4
4.18,.12.6

Options :

686340157253. 1
686340157254. 2
686340157255. 3
686340157256. 4

Question Number : 14 Question Id : 68634039815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the three numbers. first number is twice of the second number and thrice of the third mumber, The
average of their reciprocals is 1/6. The numbers are:

1.6, 3,

[ ]

| B

C8. 4

| ]

3.12.6,4
4.18,.12.6

Options :

686340157253. 1
686340157254.2
686340157255. 3
686340157256. 4

Question Number : 15 Question Id : 68634039816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A train runnimg at 90 km/'h crosses a 400 m long another train running towards it on parallel tracks at 80 kim/'h
in 18 seconds. How much time will it take to pass a 450 m long tunnel?

1. 28 seconds

| )

. 32 seconds

. 34 seconds

Lad

4. 36 seconds

Options :

686340157257. 1
686340157258. 2
686340157259. 3
686340157260. 4

Question Number : 15 Question Id : 68634039816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train running at 90 km/h crosses a 400 m long another train running towards it on parallel tracks at 80 km/h
i 18 seconds. How much time wall it take to pass a 450 m long tunnel?

1. 28 seconds

[ )

. 32 seconds

. 34 seconds

LF¥]

4. 36 seconds

Options :

686340157257. 1
686340157258. 2
686340157259. 3
686340157260. 4

Question Number : 16 Question Id : 68634039817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A is facing the east direction. If he turns 270° he will face:
1. North direction
2. South direction
3. West direction

4. North or South direction

Options :



686340157261. 1
686340157262. 2
686340157263. 3
686340157264. 4

Question Number : 16 Question Id : 68634039817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A is facing the east direction. If he turns 270° he will face:

1. North direction

| ]

. South direction

Laa

. West direction

4, North or South direction

Options :

686340157261. 1
686340157262. 2
686340157263. 3
686340157264. 4

Question Number : 17 Question Id : 68634039818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The tenth term of the given series 4Z, 5Y. 6X. TW. will be:

1.13M

J

.13P
3.130
4.13N

Options :

686340157265. 1
686340157266. 2
686340157267. 3
686340157268. 4

Question Number : 17 Question Id : 68634039818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The tenth term of the given series 4Z, 5Y. 6X. TW. will be:

1.13M

| ]

13P
3.130

4. 13N

Options :

686340157265. 1
686340157266. 2
686340157267. 3
686340157268. 4

Question Number : 18 Question Id : 68634039819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given figure find the value of x (O is the center of the given circle?

4. 65°

Options :

686340157269. 1
686340157270. 2
686340157271. 3
686340157272. 4

Question Number : 18 Question Id : 68634039819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the given figure find the value of x (O is the center of the given circle?

2. 50°

Options :

686340157269. 1
686340157270. 2
686340157271. 3
686340157272. 4

Question Number : 19 Question Id : 68634039820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ZOOM is coded as 138, The code 72 will be:

1.ROOT

b2

. TAGH
3. TOST

4. TOOR

Options :

686340157273. 1
686340157274.2
686340157275. 3
686340157276. 4

Question Number : 19 Question Id : 68634039820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ZOOM is coded as 138, The code 72 will be:

1.ROOT

b2

. TAGH
3. TOST
4. TOOR
Options :
686340157273. 1
686340157274. 2

686340157275. 3
686340157276. 4

Question Number : 20 Question Id : 68634039821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
2.7, 14, 23, 34,
Complete the series choosing appropriate option:
1. 36
2.43
3.47
4. 62
Options :
686340157277. 1
686340157278. 2

686340157279. 3
686340157280. 4

Question Number : 20 Question Id : 68634039821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
2.7, 14, 23, 34,
Complete the series choosing appropriate option:
1. 36
2.43
3.47

4. 62



Options :

686340157277. 1
686340157278. 2
686340157279. 3
686340157280. 4

Question Number : 21 Question Id : 68634039822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first general election in India was held in

1. 1950

| ]

. 1951
3. 1952
4. 1947

Options :

686340157281.
686340157282.
686340157283.
686340157284.

AW N~

Question Number : 21 Question Id : 68634039822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first general election in India was held in

1. 1950

J

. 1951
3. 1952
4. 1947

Options :

686340157281.
686340157282.
686340157283.
686340157284.

W N =

Question Number : 22 Question Id : 68634039823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ILIST I (Monuments)| LIST II (Country)
Imperial palace | 1. [France

(Opera House II. [Denmark
Eiff=] Tower 111 |Australia
[Kindu Disk IV. Japan

ofofw[>

Choose the correct answer from the options given below:

1. A-IV. B-I. C-III. D-II

| )

AL B-IV. C-1. D-II
3. A-IV. B-III. C-1. D-II
4. A-IV, B-III. C-II. D-I

Options :

686340157285. 1
686340157286. 2
686340157287. 3
686340157288. 4

Question Number : 22 Question Id : 68634039823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Monuments)] LIST II (Country)
Imperial palace | 1. |[France

Opera House 1. [Denmark
Eiffel Tower 1L |Australia
[Kindu Disk IV Papan

o ofw[>

Choose the correct answer from the options given below:

1. A-IV. B-I. C-III. D-IT

[

AL B-IV. C-1, D-II
3. A-IV. B-IIL. C-I. D-II
4. A-IV. B-ITI. C-II. D-I

Options :

686340157285. 1
686340157286. 2
686340157287. 3
686340157288. 4

Question Number : 23 Question Id : 68634039824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

When was Jana-Gana-Mana (which later became National Anthem' of India) first sung and where?

1, 24t January, 1950 in Allahabad

| S

.24th January, 1950 in Delhi
3. 26 December, 1942 in Calcutta

4. 27" December, 1911 in Calcutta

Options :

686340157289. 1
686340157290. 2
686340157291. 3
686340157292. 4

Question Number : 23 Question Id : 68634039824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

When was Jana-Gana-Mana (which later became National Anthem' of India) first sung and where?

1. 24t January. 1950 in Allahabad

| S

.24t January, 1950 in Delhi
3. 26™ December, 1942 in Calcutta

4. 27" December, 1911 in Calcutta

Options :

686340157289. 1
686340157290. 2
686340157291. 3
686340157292. 4

Question Number : 24 Question Id : 68634039825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement [ : Lord Mountbatten was the Viceroy when Simla conference took place.

Statement I1 : Indian Navy Revolt, 1946 took place when the Indian Satlors in the Royal Indian Navy at
Bombay and Karachi rose against the Government.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are true
2. Both Statement [ and Statement are false
3. Statement I is true but Statement II is false

4. Statement I 1s false but Statement I1 15 true

Options :

686340157293. 1
686340157294. 2
686340157295. 3
686340157296. 4

Question Number : 24 Question Id : 68634039825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Lord Mountbatten was the Viceroy when Simla conference took place.

Statement II ; Indian Navy Revolt, 1946 took place when the Indian Sailors in the Royal Indian Navy at
Bombay and Karachi rose against the Government.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement [ and Statement are false
3. Statement I iz true but Statement II is false

4. Statement [ is false but Statement 11 1s true

Options :

686340157293. 1
686340157294. 2
686340157295. 3
686340157296. 4

Question Number : 25 Question Id : 68634039826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The gas which 1s present in both natural gas and bio-gas is

1. Methane

| S

. Carbon Monoxide
3. Hydrogen
4. Butane

Options :

686340157297. 1
686340157298. 2
686340157299. 3
686340157300. 4

Question Number : 25 Question Id : 68634039826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The gas which is present in both natural gas and bio-gas is

1. Methane
2. Carbon Monoxide
3. Hydrogen
4. Butane
Options :
686340157297. 1
686340157298. 2

686340157299. 3
686340157300. 4

Part B: Mass Communication and Journalism

Section Id : 686340784
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401309
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 68634039827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which film has been given the 'Best Film ' award at the Dadasaheb Phalke International Film Festival 20237

1. The Kerala Story

J

. Bralhimastra
3. The Kashmir Files
4. RRR
Options :
686340157301. 1
686340157302. 2

686340157303. 3
686340157304. 4

Question Number : 26 Question Id : 68634039827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G141 TIod WBlesh <RI Ubed YARIE 2023 ¥ b4 (b 1 wdiad et REBR WaH foar /1 82
1. U el © Rt
. SIgd

[ ]
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4. 3R 3R 3R

Options :

686340157301. 1
686340157302. 2
686340157303. 3
686340157304. 4

Question Number : 27 Question Id : 68634039828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Who is the author of the book 'Bipin' :'The Man Behind the Uniform'?

1. Rachna Sharma Rawat

J

. Revati Bhadhoria
3. Tavleen Singh

4. Rachna Biswat Rawat



Options :

686340157305. 1
686340157306. 2
686340157307. 3
686340157308. 4

Question Number : 27 Question Id : 68634039828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot g 04 f9gEs g g TWe &1 aiEsT diH g2
1. T QAT Idd

2. ¥adl yekar
3, dgaid (Hg
4. ¥ fagd Tdq

Options :

686340157305. 1
686340157306. 2
686340157307. 3
686340157308. 4

Question Number : 28 Question Id : 68634039829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the theme of the World Environment Day 20237
1. Beat Plastic Pollution
2. Only One Earth

3. Restore Our Earth

4. Mother Earth

Options :

686340157309. 1
686340157310. 2
686340157311. 3
686340157312. 4

Question Number : 28 Question Id : 68634039829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fary Triavul fad 2023 B [dw a1 52
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Options :

686340157309. 1
686340157310. 2
686340157311. 3
686340157312. 4

Question Number : 29 Question Id : 68634039830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which AT powered chat bot has been launched by Google recently?
1. Gama

2. Zext

3. Eunely

4. Bard

Options :

686340157313. 1
686340157314. 2
686340157315. 3
686340157316. 4

Question Number : 29 Question Id : 68634039830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T A B B E B W S g8 (UsE) Shid 9e 9ie sRe fFar g

4. 915

Options :
686340157313. 1



686340157314. 2
686340157315. 3
686340157316. 4

Question Number : 30 Question Id : 68634039831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which case a historic judgement of the Supreme Court added reasonable restrictions on Freedom of Speech
& Expression?

1. Indian Express Vs State of Kerala

2

. BCCI Vs Ministry of Information and Broadcasting.
3. Romesh Thappar Vs State of Madras
4. Menaka Gandhi Vs Union of India

Options :

686340157317. 1

686340157318. 2

686340157319. 3
686340157320. 4

Question Number : 30 Question Id : 68634039831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Frafafad 3 9 fow Ufaeiie Fola ot & & gal= 2mre A 91 @ sifiegia o Wadal i) 3
gfads o 87

1. ST UFIYY @419 &d Ay

2. SRS 91 91 @ TR 3y

3. THY YR &1 HE I

4. 51 Tl §919 YRd 99

Options :

686340157317. 1
686340157318.2
686340157319. 3
686340157320. 4

Question Number : 31 Question Id : 68634039832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Programme 'Frankly Speaking' is hosted by

—

. Rajdeep Sardesai

{S]

. Navika Kumar
3. Nidhi Razdan

4. Arnab Goswanu

Options :

686340157321. 1
686340157322. 2
686340157323. 3
686340157324. 4

Question Number : 31 Question Id : 68634039832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Thdrci] Wi HRIeH & Hoiar! (34 & ¥ ®H S/ Il 82
1. JCIEY RS
2. AT HHR
GRS G|
4. 3Ad TGTH!

Options :

686340157321. 1
686340157322.2
686340157323. 3
686340157324. 4

Question Number : 32 Question Id : 68634039833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The United Nations Climate Change 2021 conference was held in which city?
1. Canberra
2. Madrid
3. Copenhagen

4. Glasgow

Options :
686340157325. 1



686340157326. 2
686340157327. 3
686340157328. 4

Question Number : 32 Question Id : 68634039833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty Oy Serarg gRad 2021 TR g we) & s fesar
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4, T

[ ]

Options :

686340157325. 1
686340157326. 2
686340157327. 3
686340157328. 4

Question Number : 33 Question Id : 68634039834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The Cheetahs that were brought from Namibia recently were released in which National Park?

1. Bandhavgarh

| S

. Kuno
3. Siomt
4. Gir

Options :

686340157329. 1
686340157330. 2
686340157331. 3
686340157332. 4

Question Number : 33 Question Id : 68634039834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gTa § AifHfean 3 @ e il @ By H ¥ 69 g S J sie ma ure
1. SiyaTTe

2. Al
3, RyafHT
4. R

Options :

686340157329. 1
686340157330. 2
686340157331. 3
686340157332. 4

Question Number : 34 Question Id : 68634039835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

All India Radio was established in which year?

1. 1926

2

. 1929
3.1932

4, 1936

Options :

686340157333. 1
686340157334.2
686340157335. 3
686340157336. 4

Question Number : 34 Question Id : 68634039835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Te Shen sl ot R fovg oy 1 71 i
1.1926
2, 1929
3.1932
4. 1936

Options :
686340157333. 1



686340157334. 2
686340157335. 3
686340157336. 4

Question Number : 35 Question Id : 68634039836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who coined the term 'Global Village'?
1. Wilbur Schramm
2. Bill Gates
3. Marshall McLuhan
4. Noam Chomsky

Options :

686340157337. 1
686340157338. 2
686340157339. 3
686340157340. 4

Question Number : 35 Question Id : 68634039836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Taled [daer Oe Pl fbgH el
1. faesz H
2. fewvica

3. OTRie Hage
4. A R

Options :

686340157337. 1
686340157338. 2
686340157339. 3
686340157340. 4

Question Number : 36 Question Id : 68634039837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The term 'Agenda Setting' was coined by
1. Daniel Lerner
2. Maxwell McCombs and Donald L. Shaw
3. George Gerbner

4. Elihu Katz and Herbert Blumer

Options :

686340157341. 1
686340157342. 2
686340157343. 3
686340157344. 4

Question Number : 36 Question Id : 68634039837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS ST " ug &I fhg- e
IRCIEU VI '_'h

2. Ho9dd O Siey 9l SiHTeS U, 91

3. OIS g
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Options :

686340157341. 1
686340157342. 2
686340157343. 3
686340157344. 4

Question Number : 37 Question Id : 68634039838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ABC ig associated with

—

. Newspaper circulation

]

. Advertising Revenue
3. Radio Listeners
4. Television Viewing

Options :
686340157345. 1



686340157346. 2
686340157347. 3
686340157348. 4

Question Number : 37 Question Id : 68634039838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UdE (ABO) FE E O o dEfta e
1. FHMER U [deR0l (FHagH)
2. fasio= Terg
3. 3 Sa1 i
4, THITdoM a¥@ (T2

Options :

686340157345. 1
686340157346. 2
686340157347. 3
686340157348. 4

Question Number : 38 Question Id : 68634039839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

The Constitutional provisions of the Election Commission of India to deal with elections to the Central
Legislature are provided in

1. Article 370
2. Article 352
3. Article 360

4. Article 324

Options :

686340157349. 1
686340157350. 2
686340157351. 3
686340157352. 4

Question Number : 38 Question Id : 68634039839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340157349. 1
686340157350. 2
686340157351. 3
686340157352. 4

Question Number : 39 Question Id : 68634039840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which site was discovered accidently in the year 19217

1. Magadha

| ]

. Mesopotamia
3. Nalanda
4. Harappa

Options :

686340157353. 1
686340157354. 2
686340157355. 3
686340157356. 4

Question Number : 39 Question Id : 68634039840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et o 9 e —e &1 @i 1021 § Siaife 99 55 4
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Options :



686340157353. 1
686340157354. 2
686340157355. 3
686340157356. 4

Question Number : 40 Question Id : 68634039841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which is the highest award in Cinema in the Indian Film Industry?

1. Shyam Benegal Award

J

. Lata Mangeshkar Award
3. Dada Saheb Phalke Award
4. Satyajit Ray Award

Options :

686340157357. 1
686340157358. 2
686340157359. 3
686340157360. 4

Question Number : 40 Question Id : 68634039841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340157357. 1
686340157358. 2
686340157359. 3
686340157360. 4

Question Number : 41 Question Id : 68634039842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which state won the highest number of gold medals in the Khelo India Youth Games 20227

1. Delhi

| S]

. Maharashtra
3. Haryana

4. Karnataka

Options :

686340157361. 1
686340157362. 2
686340157363. 3
686340157364. 4

Question Number : 41 Question Id : 68634039842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ddl &fsa1 ga1 9d 2022 ¥ [0 a9 7 gaiive w@ol ugs s
1. aﬁﬁ

. HeI¥
3, g
4. FAlcH

Options :

686340157361. 1
686340157362. 2
686340157363. 3
686340157364. 4

| )

Question Number : 42 Question Id : 68634039843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What is the name of the International Commission setup to study the communication problems by UNESCO?
1. Verghese
2. McLuhan
3. Wilbur Schramm

4. MacBride

Options :
686340157365. 1
686340157366. 2



686340157367. 3
686340157368. 4

Question Number : 42 Question Id : 68634039843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR HEsi & 3ehu & {00 Zem! gRI TG SaRiIg ST o1 &l 714 87

1. g
3. fower 91
4. HPEES

Options :

686340157365. 1

686340157366. 2

686340157367. 3
686340157368. 4

[ ]

Question Number : 43 Question Id : 68634039844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who wrote the book titled Media Control: the Spectacular Achievement of Propaganda?

1. Michel Foucault

| ]

. Jurgan Habermas
3. Noam Chomsky

4. Sagarika Ghose

Options :

686340157369. 1
686340157370. 2
686340157371. 3
686340157372. 4

Question Number : 43 Question Id : 68634039844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340157369 1

686340157370. 2

686340157371. 3
686340157372. 4

Question Number : 44 Question Id : 68634039845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who advocated the term Development Support Communication?
1. Erskine Childers
2. Manuel Castells
3. Nora Quebral
4. Srinivas Melkote
Options :
686340157373. 1
686340157374. 2

686340157375. 3
686340157376. 4

Question Number : 44 Question Id : 68634039845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIIHE HUIE HHY[-H UG Bi gobrard e o1 Ul
1. T TEesy
2. T3 BT
3. RIS
4. fiFa g Aepic

Options :
686340157373. 1



686340157374. 2
686340157375. 3
686340157376. 4

Question Number : 45 Question Id : 68634039846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is the world's oldest National Broadcasting Organisation?
1. BBC
2.VOA
3. Radio Ceylon

4. Radio Tokyo

Options :

686340157377. 1
686340157378. 2
686340157379. 3
686340157380. 4

Question Number : 45 Question Id : 68634039846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. et
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Options :

686340157377, 1

686340157378. 2

686340157379. 3
686340157380. 4

Question Number : 46 Question Id : 68634039847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who pioneered the idea of newspaper cham?

1. Randolph Hearst

-

2. Joseph Pultizer
3. Benjamin Franklin
4. E.W. Scripps
Options :
686340157381. 1
686340157382. 2

686340157383. 3
686340157384. 4

Question Number : 46 Question Id : 68634039847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YHER T 49 & [09R &1 AR fde- U faan
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Options :

686340157381. 1
686340157382. 2
686340157383. 3
686340157384. 4

Question Number : 47 Question Id : 68634039848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Newspaper name. date and page number, that appears at the top of each page is known as

1. Folio

{S]

. Banner
3. Ear

4. Ribbon

Options :
686340157385. 1



686340157386. 2
686340157387. 3
686340157388. 4

Question Number : 47 Question Id : 68634039848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Bifert
2. 8
3.80%
4. s

Options :

686340157385, 1

686340157386. 2

686340157387. 3
686340157388. 4

Question Number : 48 Question Id : 68634039849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The 24x7 rolling news format was first popularized by

1. CNN

| S

.BBC
3. Australia Cable Network

4. Al Jazeera

Options :

686340157389. 1
686340157390. 2
686340157391. 3
686340157392. 4

Question Number : 48 Question Id : 68634039849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



24x7 T YHER UG &1 9 H 9 foa die g §45am u1?
1. GgA
2. Stard]

3. e ferd ad Aead

4. 3T SHIRT

Options :

686340157389. 1
686340157390. 2
686340157391. 3
686340157392. 4

Question Number : 49 Question Id : 68634039850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which was the world's first daytime TV Soap Opera?

1. The Grove Family

| S

. Coronation Street
3. Days of Our Lives
4. These are My Children
Options :
686340157393. 1
686340157394. 2

686340157395. 3
686340157396. 4

Question Number : 49 Question Id : 68634039850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
fa% &1 {7 © uaiva g14 a1 cllido &1 Hyd YRIdled oI 91 U1
1. Ui Siydl
2. PREATA K
3. 391 3 3faR dIgod

)

4. E1S1 3R 1T, foeg

Options :



686340157393. 1
686340157394. 2
686340157395. 3
686340157396. 4

Question Number : 50 Question Id : 68634039851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who is the current National Security Advisor?

1. Ajit Doval

J

CAmitab Kant

L¥ 5]

. Dinkar Gupta
4. Subodh Kumiar Jaiswal
Options :
686340157397. 1
686340157398. 2

686340157399. 3
686340157400. 4

Question Number : 50 Question Id : 68634039851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I AP GR& FACPR B 82
1. 3{foid Slara
2. Hftrary ®id
3. fe@R Tt

4. guIY PR AT

Options :

686340157397 1
686340157398. 2
686340157399. 3
686340157400. 4

Question Number : 51 Question Id : 68634039852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was elected as the first women President of the Indian Olyvmpic Association?
1. P.V.Sindhu
2. Mary Kom
3.P.T. Usha

4. Saina Nehewal

Options :

686340157401. 1
686340157402. 2
686340157403. 3
686340157404. 4

Question Number : 51 Question Id : 68634039852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafad 3 9 oH YR sidite TNk o uys afge siee & &9 d Halfd gg 82

1. Tt fiy

2. &M
3. 411 9w
4, WA -Ead

Options :

686340157401. 1

686340157402. 2

686340157403. 3
686340157404. 4

)

Question Number : 52 Question Id : 68634039853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Rhetoric’ as the basis of better communication was emphasized by

1. Schranum

J

. Theodore
3. Benjamin
4. Aristotle

Options :
686340157405. 1



686340157406. 2
686340157407. 3
686340157408. 4

Question Number : 52 Question Id : 68634039853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 I O - SER U9R & 31UR & 0 0 AEHING HINT (SRS R g ea1um
1. fower 99
2. fIErsR
3. delia=

4. 3RE

Options :

686340157405. 1
686340157406. 2
686340157407. 3
686340157408. 4

Question Number : 53 Question Id : 68634039854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Satellite Revolution 1s said to have began in the year 1957 with
1. Sputnik
2. Apollo
3. Apple
4. Columbus

Options :

686340157409. 1
686340157410. 2
686340157411. 3
686340157412. 4

Question Number : 53 Question Id : 68634039854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiaa O & foud ar o U8 &8l Il & i 1057 § 3% 91y 81 SUUE SBli= B RE T U

4. PiTEY

Options :

686340157409. 1
686340157410. 2
686340157411. 3
686340157412. 4

Question Number : 54 Question Id : 68634039855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who directed the documentary 'India’s Daughter'?
1. Leslee Udwin
2. Harper Colins
3. Leslee Edwin

4. Shekhar Kapoor
Options :
686340157413. 1
686340157414. 2

686340157415. 3
686340157416. 4

Question Number : 54 Question Id : 68634039855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2fEam siex 2ide gu fom &1 ks foem far up
1. TECl 38fdT
2. IR B

3, Al Tefaq
4, IR HYL

Options :



686340157413. 1
686340157414. 2
686340157415. 3
686340157416. 4

Question Number : 55 Question Id : 68634039856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following was the first live televised war in the world?

1. Vietnam War

J

. Persian Gulf War

L¥ ]

. Kargil War
4. Russo-Ukraine War

Options :

686340157417. 1
686340157418. 2
686340157419. 3
686340157420. 4

Question Number : 55 Question Id : 68634039856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafeiga ¥ 9 o H 91 g= colfas 1R w=id @y &1 ud woila (@1gd) gE Ul
1. fegam g

%%
g
B

4. FHGHGS

Options :

686340157417. 1
686340157418. 2
686340157419. 3
686340157420. 4

Question Number : 56 Question Id : 68634039857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which is the first foreign news agency to start its operations i India 7

1. AP

| S]

VAFP
3. TASS
4. Reuters
Options :
686340157421. 1
686340157422.2

686340157423. 3
686340157424. 4

Question Number : 56 Question Id : 68634039857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR H 39T J=TeH AR &34 diell gud faeeft uoid o= 9t 82
1.t
2. UTE T

3. dI4d
4l v 5

Options :

686340157421. 1
686340157422. 2
686340157423. 3
686340157424. 4

Question Number : 57 Question Id : 68634039858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who among the following said 'mass media are magic multipliers'?

1. Maxwell McCombs

| S

. Wilbur Schramm
3. Melvin DeFleur
4. Harold Lasswell
Options :

686340157425 1
686340157426. 2



686340157427. 3
686340157428. 4

Question Number : 57 Question Id : 68634039858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafefad 3 @ fou oy =g difgar R Bfse weciem 2

1. Hebehisy
2. fawae om
3. XETIES
4. TR

Options :

686340157425. 1

686340157426. 2

686340157427. 3
686340157428. 4

Question Number : 58 Question Id : 68634039859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Ombudsman in a newspaper organisation represents the point of view of the
1.CEO
2. Editor
3. Reader

4. Publisher

Options :

686340157429. 1
686340157430. 2
686340157431. 3
686340157432. 4

Question Number : 58 Question Id : 68634039859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fep<il THER U3 WA § dieurd (sitges) 9 O 3 g =@l &1 wiafita a1 82
1. Higai

2. guiesd

-]

3. Ul
4. UP RIS

Options :

686340157429. 1
686340157430. 2
686340157431. 3
686340157432. 4

Question Number : 59 Question Id : 68634039860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concept of stercotypes was advocated in mass media by

—

. Walter Lippmann
2. James Anderson
3. Kuhn. T.
4. Rogers. E.
Options :
686340157433. 1
686340157434. 2

686340157435. 3
686340157436. 4

Question Number : 59 Question Id : 68634039860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wiegy Yeea 31 o9 JaR § Ud 5 5 9 fou- ot o
1. dleey ferede
2. O USTH

3. %8 Cl.
4.3 S,

)

Options :



686340157433. 1
686340157434. 2
686340157435. 3
686340157436. 4

Question Number : 60 Question Id : 68634039861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Semantic noise is concerned with the understandability of

1. Encoder

J

. Message
3. Decoder

4. Transmitter

Options :

686340157437. 1
686340157438. 2
686340157439. 3
686340157440. 4

Question Number : 60 Question Id : 68634039861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w51 IR (FTew) e © fas! siuusw gigar 3 94 82

4. U

Options :

686340157437. 1
686340157438. 2
686340157439. 3
686340157440. 4

Question Number : 61 Question Id : 68634039862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which place in India was the Losar festival celebrated in December 20227

1. Manipur

{S]

. Nagaland

3. Ladakh

4. Arunachal Pradesh
Options :
686340157441. 1
686340157442. 2

686340157443. 3
686340157444. 4

Question Number : 61 Question Id : 68634039862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HRA H 9 H ¥ 0 Wi IR fegray 2022 § SR 3o H-1-0 731 Y41 2

1. HiorgR

)

3.8

4. 3BUAA W W
Options :
686340157441. 1
686340157442. 2

686340157443. 3
686340157444. 4

Question Number : 62 Question Id : 68634039863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who is the chairperson of NITI Aayog?
1. Prime Minister
2. President
3. Chuef Justice of India
4. Speaker of the Lok Sabha

Options :
686340157445. 1



686340157446. 2
686340157447. 3
686340157448. 4

Question Number : 62 Question Id : 68634039863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T (IS AT BT e BT 82
1. AT

1yufd
3. YRd & g7 T

[ ]

4, QG T e

Options :

686340157445. 1
686340157446. 2
686340157447. 3
686340157448. 4

Question Number : 63 Question Id : 68634039864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who won the BBC Indian Sportswomen of the Year title for 20227

1. Shanta Rangaswamy
2. Saina Nehwal
3. P.V. Sindhu
4. Mirabai Chanu

Options :

686340157449. 1

686340157450. 2

686340157451. 3
686340157452. 4

Question Number : 63 Question Id : 68634039864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 1 T e 2022 F fow av & SR ofea fears! & g Siar g2
1. TQT 1 STt

RESIEREIN

3. 41 d Ry

4, HRTETS 91

Options :

686340157449. 1
686340157450. 2
686340157451. 3
686340157452. 4

[ ]

Question Number : 64 Question Id : 68634039865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Pulizter Prize is given in the field of Journalism.

Statement ll: Ramnath Goenka award is also given for excelience in Journalism.

In the light of the above statements, choose the most appropriate answer from the oplicns given below.

1. Both Statement | and Statement |l are correct

| B

. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l 15 incorrect

4. Statement | is incorrect but Statement 1l is correct

Options :

686340157453. 1
686340157454. 2
686340157455. 3
686340157456. 4

Question Number : 64 Question Id : 68634039865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B IE STl
HYA 1: JOToR [REBR TSRl & &7 8 UgH a1 Jrdr g
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3. PYUT 1Tl ©. it YT 1 7Tad ©
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Options :

686340157453. 1
686340157454. 2
686340157455. 3
686340157456. 4

Question Number : 65 Question Id : 68634039866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: David Ogilvy is related to the field of Advertising.

Statement Il: DWW Griffith has contributed extensively tc the field of Advertising.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement |l are cormrect

| B

. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4, Statement | is incorrect but Statement 1 i1s correct

Options :

686340157457. 1
686340157458. 2
686340157459. 3
686340157460. 4

Question Number : 65 Question Id : 68634039866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1
B EAIC AR U
YA I: SdS ! a9 & & 9 Jefia g
YT I1: S, Sag pY - 169199 & &3 F g8 UHH W IreH [Bar gl
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Options :

686340157457. 1
686340157458. 2
686340157459. 3
686340157460. 4

Question Number : 66 Question Id : 68634039867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R,
Assertion A: Today, e-mail and SMS have the same validity like paper-based letter and tickets.
Reason R: Today, the definition of document imcludes e-documents.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true but R is NOT the correct explanation of A

[F¥]

. Aistrue but Ris false

4. & is false but R is true

Options :

686340157461. 1
686340157462. 2
686340157463. 3
686340157464. 4

Question Number : 66 Question Id : 68634039867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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FUH .

HIUSYT A: 1S SHT R TH UH T B PRI AR U7 3 [edhe & SR JUai gl
FRUTR: 3o GxI1dol & YRUE T -a%ards e g
Sudead Byl & el 1, AU Y [deed] § 3 951 IR &1 904 SIfo;

1. A SR R &I UG & SR R. A P US| UL &

2, ASRREH T8I 8 AR R AP Jol ARAT 61 &
AT EAGAIR AT B
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Options :

686340157461. 1
686340157462. 2
686340157463. 3
686340157464. 4

Question Number : 67 Question Id : 68634039868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Assertion A: Effective communication and homophily are generally positively related.

Reason R: According to the Helical Model of Communication people have fear of isolation.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Alstrue but Ris false
4. Aisfalse but Ris true

Options :

686340157465. 1

686340157466. 2

686340157467. 3
686340157468. 4



Question Number : 67 Question Id : 68634039868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340157465. 1
686340157466. 2
686340157467. 3
686340157468. 4

Question Number : 68 Question Id : 68634039869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Assertion A: Digital divide is the gap between those who have access to electronic and information
technology and those who do not.

Reason R: There is no digital divide in India as majority of the people are using computers and smart phones.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R ar= true and R is the correct explanation of A

| )

. Both A and R are true but R is NOT the correct explanation of A
3. Als true but Ris false

4. Aisfalse but R is true

Options :

686340157469. 1
686340157470. 2
686340157471. 3
686340157472. 4



Question Number : 68 Question Id : 68634039869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340157469. 1
686340157470. 2
686340157471. 3
686340157472. 4

Question Number : 69 Question Id : 68634039870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the committees on Broadeasting chronological sequence beginning from the first

A. Vardhan Comimittee

B. Nitish Sengupta Committee
C. P.C. Joshi Committee

D. Amit Mitra Committee

Choose the correct answer from the options given below:

1.LD.C.A.B

| B

.C.A.B.D

.C.A.B.D

L¥¥]

4B, A C.D

Options :

686340157473. 1
686340157474. 2
686340157475. 3
686340157476. 4

Question Number : 69 Question Id : 68634039870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR el e giifaal & S HrTaR Hel P H ©f ygar Sife

A aeq Iffa

B. AId¥1 Y= wiafa
C. T <t ol giEfd
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.C.A.B.D
3CARBRD
4B.A.C,D

Options :

686340157473. 1
686340157474. 2
686340157475. 3
686340157476. 4

Question Number : 70 Question Id : 68634039871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Recently which country's former President Abdulla Yameen who has been recently sentenced to 11 years jail
term?

1. Maldives

[ ]

. Turkey

. Yemen

Lad

4. Sudan

Options :

686340157477. 1
686340157478. 2
686340157479. 3
686340157480. 4

Question Number : 70 Question Id : 68634039871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
% 5 4 fow qw & yd yuld segeet A @ g J 1 98 & SRIGR S §6ll 15 715 67
1. HIedla
2.

3.9854

4. 95H

Options :

686340157477. 1
686340157478. 2
686340157479. 3
686340157480. 4

Question Number : 71 Question Id : 68634039872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the sequence of elements in Uses and Gratification Model.

A. Motives

B. Basic needs

C. Gratification

D. Individual characteristics

Choose the correct answer from the options given below:

1.D.B.A.C

| B

By AT C
3.A.B.D.C
4.B.D.A C

Options :

686340157481. 1
686340157482. 2
686340157483. 3
686340157484. 4

Question Number : 71 Question Id : 68634039872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TYGHT d YRS Al H @l & 3 H S UgdH Difvu:

A JOISH
B. §-41E1 STauehdll

i
D. gufda® fafdryamn
2 fau e foeen © @ Ol S @ gEA St

1.D.B.A.C
2.B,A.D.C
3.A.B.D.C
4.B.D.A.C

Options :

686340157481. 1
686340157482. 2
686340157483. 3
686340157484. 4

Question Number : 72 Question Id : 68634039873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange in sequence correct the four step marketing procedure used in developing advertising messages,

A Imterest
B. Desire

C. Action
D. Attention

Choose the correct answer from the options given below:

LLAD.B.C

[ B

.DB.A.C

A B e D

L¥¥]

4.D. A B.C

Options :

686340157485. 1
686340157486. 2
686340157487. 3
686340157488. 4

Question Number : 72 Question Id : 68634039873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fasITo=T Se=T &1 =1 | Ugad IR-HIUTe 99U Uithan & S & Ug S :

A &
B. BHAI
c. @Y
D. &I

Rt fied U S e e ga S

L:AD. B €
2.DB,A.C
3.AB C.D
4.D.A B, C

Options :

686340157485. 1
686340157486. 2
686340157487. 3
686340157488. 4

Question Number : 73 Question Id : 68634039874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the authors who contributed to communication theories in the chronological order beginning from the
first,

A Theodore H. Newcomb
B. George Gebner

C. Westley Maclean

D. Fritz Heider

Choose the correct answer from the options given below:

1B, A D

[ ]

.D.B.A, C
3D.AC.B
4 B.A.C.D

Options :

686340157489. 1
686340157490. 2
686340157491. 3
686340157492. 4

Question Number : 73 Question Id : 68634039874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
YOR fgidl ¥ (9 oEs | & g & 9y 1 S9! 96l SIepHR UgdH S :

A. fgsR = goie
B. SIS 116-]
C. 9l Afd

D. fibedl gs¢
i feu e foeed © © U8 ST @1 oA ST

1B, C,A, D

[ B

(B AT
3.D.A C.B
4.B. A CD

Options :

686340157489. 1
686340157490. 2
686340157491. 3
686340157492. 4

Question Number : 74 Question Id : 68634039875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Arrange the the following news agencies in chronological sequence according to their year of
establishment beginning from the first.

A, Reuters

B. Press Trust of India
C. Associated Press
D. Havas

Choose the correct answer from the options given below:

1.D.C.A.B

[ ]

.C,A.B.D
3JACD.B
4. D.A.C.B

Options :

686340157493. 1
686340157494. 2
686340157495. 3
686340157496. 4

Question Number : 74 Question Id : 68634039875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT TArER TSRl 1SS! RN & 9y & SHR SIAHe 3hH 1 Iga oI

A.Jged

B. U9 ¢¥c 3w sfusar
c. aifgufes oy
D.gd¥

i feu T Aot H 2 Og TR & 9uA BT

1.D.C.A.B

| B

EABID
3.A.C.D.B
4.D.A.C.B

Options :

686340157493. 1
686340157494. 2
686340157495. 3
686340157496. 4



Question Number : 75 Question Id : 68634039876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Tist IT

LISTI LISTII
. [Republic TV 1. |Sonia Singh
[ndia Today II. [Navika Kumar
Times Now II1. |Rajdeep Sardesai
. INDTV IV |Arnab Goswami

o|ofw| e

Choose the correct answer from the options given below:

1. 24w Bl c1 B

| )

ALY B cH DA
3. A4V Bl Nl D-N
4. A B CHN DAY

Options :

686340157497. 1
686340157498. 2
686340157499. 3
686340157500. 4

Question Number : 75 Question Id : 68634039876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S

g1 T 1
Nuferd <1t | 1. [|ifa [
AR 1. [A1fd%1 $AR
CRE A | 1L ReGiU ReaE
J@Esidd | era e

Fafeied [deedl § 1 Ul 3R &1 944 il :

1. AW Bl C-Il DA

ofo]w[s

2.8 Bl G DA
3. AV B C-l DN
4. A1 B CHI DHIY
Options :
686340157497. 1

686340157498. 2
686340157499. 3



686340157500. 4

Question Number : 76 Question Id : 68634039877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: M.G Ramachandran was awarded Bharat Ratna posthumously.
Statement ll: Arunz Asaf Al also awarded Bharat Ratna posthumouly.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement | and Statement |l are true

| ]

. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true

Options :

686340157501. 1
686340157502. 2
686340157503. 3
686340157504. 4

Question Number : 76 Question Id : 68634039877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

flﬁ?flﬁwﬁft{m?!
YA 1: TH. off. THAS D IR HRT Id TSR U1 fohar a7 o |

SYA I1: 30T SHE 3Tl bl Ui TRUNRIT YRd 3@ REPR WS fodr 71 Uil
SUad HUl & JTa® 1, 3T T fasedl & 3 981 3R @1 994 DIt
1. B AR SHI T &

2. PYA [ AR 11 SHI 3T &
3. PUTI A B, AT U 11 3T ©
4. T HEAE. AP PUT I IA T
Options :
686340157501. 1

686340157502. 2
686340157503. 3



686340157504. 4

Question Number : 77 Question Id : 68634039878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Rajesh Khanna was awarded the Dada Saheb Phalke.

Statement ll: Raja Mouli was also awarded the Dada Sahab Phalke.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement | and Statement |l are true

B}

. Both Statement | and Statement Il are false
3. Statement | is true but Statement 1l is false

4. Statement | is false but Staterment Il is true

Options :

686340157505. 1
686340157506. 2
686340157507. 3
686340157508. 4

Question Number : 77 Question Id : 68634039878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%ﬁlﬁmﬁqﬁq%‘“

DY 1: I G Dl 2141 Hled Bleh YIWPR U fhdr 77 Ul

S Y I1: ST Hieil o1 i STeT HIed Bieh [REpR YT o 7 4T
SWe Bl & el 1§, faU T fasedl O O 981 3T &1 904 SIfT:

1. YA IR el 9 &

2. FYF 1R 11 EHl A ©
3. HYTI IR, AfpT ST I 3T ©

4. YT 3T e, AP T BUT I I B

Options :



686340157505. 1
686340157506. 2
686340157507. 3
686340157508. 4

Question Number : 78 Question Id : 68634039879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement |: Kailash Satyarthi was awarded the Nobel Prize.

Statement ll: Amartya Sen was also awarded the Nobel Prize.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement | and Statement |l are true

{ )

. Both Statement | and Statement Il are false
3. Statement | is true but Statement 1l is false

4. Statement | is false but Staterment Il is true

Options :

686340157509. 1
686340157510. 2
686340157511. 3
686340157512. 4

Question Number : 78 Question Id : 68634039879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#ﬁaﬁﬁwﬁqm%
BY I SAry Tl 1 Aide RIBR UaH faar w1

BY I1: 3O 99 D1 o Al6d REPR WeT 901 7771 |
SUad HYAl & JTdl® 1, f3U 7 faeedl & 9 981 3R &1 994 S

1. Y1 RIS 9T &

YT 1 3R 1 S S

PYT 1A B, AfbT YT I 3T ©

| ]

%]

4. FYTI 3T e AP T BUT I I B

Options :

686340157509. 1
686340157510. 2
686340157511. 3
686340157512. 4

Question Number : 79 Question Id : 68634039880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Priscilla Gonsalves directed the documentary 'Elephant Whisperers'?

Statement ll: 5.5 Rajamouli directed the film 'RRR!

In the light of the above statements. choose the correct answer from the options given below.
1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4, statement | is false but Statement 1 is trus

Options :

686340157513. 1
686340157514. 2
686340157515. 3
686340157516. 4



Question Number : 79 Question Id : 68634039880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICRAICREURIIE
FYE I B T = Ut feeR aq faa 1 fAdse s g1

YA I1: TH.TH. o 7 3R R 4R ey &1 Fde= far g
Sie Sl & ATl . fOU T fawedl & 9 981 3R &1 994 ST
1. PYUA IR I SF I &

2. HYTI RIS 3§
3 YT I T S, AT e I A B

A PUTI AT S, AP FUT I T ©

Options :

686340157513. 1
686340157514. 2
686340157515. 3
686340157516. 4

Question Number : 80 Question Id : 68634039881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who started the newspaper 'Independent'?
1. Jawaharlal Nehru
2. Lal Bahadur Shastri
3. M. K. Gandli
4. Motilal Nehru

Options :

686340157517. 1
686340157518.2
686340157519. 3
686340157520. 4

Question Number : 80 Question Id : 68634039881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



sfetise UHER UF fooge Ry fosar ur

IRSCIRIRERS
2. T §B1gR UGl
3. QM. &, T

4. Ot O 489

Options :

686340157517. 1
686340157518. 2
686340157519. 3
686340157520. 4

Question Number : 81 Question Id : 68634039882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which is the first national newsagency of India?

1. The Free Press of India

J

. Press Trust of India
3. United News of India
4. Press News Bureau

Options :

686340157521. 1
686340157522. 2
686340157523. 3
686340157524. 4

Question Number : 81 Question Id : 68634039882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

YR B HUH AP FHER o B 9 g2
1. G W1 O ST Sfea
2. U9 € 310 BfEa
3. gATeS o i gfsan
4. 99 S oY

Options :



686340157521. 1
686340157522. 2
686340157523. 3
686340157524. 4

Question Number : 82 Question Id : 68634039883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Penny Press [. Poseph M Patterson
[Yellow Journalism| 1T [Benjamin Day
Gonzo Journalism | IIT [William B Hearst
Jazz Journalism | IV [Hunter S Thompson

o ofw[

Choose the correct answer from the options given below:

1. 441 BN ¢ DAV

| )

AL B G DAV
3. AW B C-N DA
4. A4l B CHV DAl

Options :

686340157525. 1
686340157526. 2
686340157527. 3
686340157528. 4

Question Number : 82 Question Id : 68634039883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=l 11 4l 11 9 [0aH S

TqA T T
EEIRE] 1[G UH Uedd
Emwﬁm . [ 2
el wilered | 11 [[Afeas o 8%

s | 1v [Ber vw gt
frafead faeedl & € 98l TR @1 994 BT |

1.A-0 B 4 D-IV

=

olo| w

[ ]

AL Bl C-IE DAl

ANV BT CH DA

%]

4. 8401 B TV DA

Options :

686340157525. 1
686340157526. 2
686340157527. 3
686340157528. 4

Question Number : 83 Question Id : 68634039884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTII
Mahesh Bhatt | 1. |Prem Rog
[F.aj Kapoor IT. [Masocom
Subhash Ghai | III |[Karma
Shekhar Kapoos] IV, |Saaransh

o[ ofw[

Choose the correct answer from the options given below:

1. a4 B-v c-an -1l

[ )

A BAY Cll D
3. 81 Bl C-ll D-lv
4. A1V B N DN

Options :

686340157529. 1
686340157530. 2
686340157531. 3
686340157532. 4



Question Number : 83 Question Id : 68634039884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 1 1 9= 11 ¥ e Sy

T T 1
HET g L [gE3m

HEE2 IL [AgH
EOILCH 1L [®41
ErEREm | IV [ERE

fafaiad fdwedl I 9 Tel 3Tk &1 994 Sifoig :

1. 84 BV C-In D-lI

ofo]w»

| )

A BV e DAl
3.4 Bl C-ll DAV
4. 8-W Bl C-ll D-H

Options :

686340157529. 1
686340157530. 2
686340157531. 3
686340157532. 4

Question Number : 84 Question Id : 68634039885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |The Hindu I JRamoiji Rao
B. [Eenadu II. |Sukumar Ranganathan|
C. |Statesman II1. [Ravindra Kumar
D. Hindustan Times| IV. [N. Ram

Choose the correct answer from the options given below:

1. 249w B4 cHnl o=l

| ]

CA-Y B CHIL DAl
3. a1 B C-l DAV
4. A1 BV CIl DN

Options :

686340157533. 1

686340157534. 2
686340157535. 3



686340157536. 4

Question Number : 84 Question Id : 68634039885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

=il 1 1 9= 11 ¥ e Sy
AT I T I
A

1. RS 3G
ERlE 1L [GHHR FHYT
T egH 111 Rfd= 4R
e s | v g5 38

fafaiad fdwedl I 9 Tel 3Tk &1 994 Sifoig :

1.aW B C-ll DAl

ofo]wx

| )

AV BT Gl D-
3. A0 Bl C-ll DAV

4, A BV C-l D-H

Options :

686340157533. 1
686340157534.2
686340157535. 3
686340157536. 4

Question Number : 85 Question Id : 68634039886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Twntter 1. |Adam Mossen
B [|Instagram II. Mark Zuckerberg]
C. [Facebook II1. |[Will Cathcart
D. |Whatsapp IV [Elon Musk

Choose the correct answer from the options given below:

1. a4 B-v =l D=l

[ )

AV B Gl Dl
3. A4 BV C-l DAl
4. A4l B4 CIt DAV

Options :
686340157537. 1



686340157538. 2
686340157539. 3
686340157540. 4

Question Number : 85 Question Id : 68634039886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S

g1 T I
feee 1 [osH A
g 1L [A1 e
EREED il EREREIE

I V. [oeH 55
Fafeied [deedl § 1 Ul 3R &1 944 il :

1. a4 BV c-l D-llI

ofo]w]s

2. 8- Bl C-f D-I
3. A0 BV C-l DA

4, 8- B CIl DIV

Options :

686340157537. 1
686340157538. 2
686340157539. 3
686340157540. 4

Question Number : 86 Question Id : 68634039887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Alfred Hitcheock| 1. lkuru
Akira Kurosawa | I1. Jurassic Park
Steven Spielberg | 111 [The Seventh Seal
[ngmar Bergman | IV, [Dail M for Murder]

ofofw[=

Choose the correct answer from the options given below:

1. 24v Bl G2l D=1

| )

AV B G- D

3. 84V B-1 C-Il D-1N

4. A B-I C-I DAV



Options :

686340157541. 1
686340157542. 2
686340157543. 3
686340157544. 4

Question Number : 86 Question Id : 68634039887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 %1 g= 11 ¥ fHaE S
T I T I

_ 1 [oEew
s permmEr| 1 e e
111 [& 9o~ g

Earema [1v. foawmnRrR At
FFrafeiad faeedl § 9 9t 3R &1 90+ iy :

1. AW Bl CI DHI

B

!

| )

LV [V o [
3. A B G-Il D-iN

4. A0 B C D-IV

Options :

686340157541. 1
686340157542. 2
686340157543. 3
686340157544. 4

Question Number : 87 Question Id : 68634039888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
. [Durga Das I |Cartoonist
Mario Miranda I1. |[Editor
C.Y Chintamani | ITL. [Broadcaster
. PMelvil Demellow] IV, [Political Commentator

o|o|w|e

Choose the correct answer from the options given below:

1. 24w B4 c-l Dl

| )

AL Bl CAlE DAl
3. A BN Cl DAV
4. A4l B C-t DAV

Options :

686340157545. 1
686340157546. 2
686340157547. 3
686340157548. 4

Question Number : 87 Question Id : 68634039888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 1 1 9= 11 ¥ e Sy

T 1 = I
[gniers 1 @il
e fiRier | 1 [Huee
T 9. eam| 11 [T9R® (@sare)
g Eda | v fredias fufier

fafaiad fdwedl I 9 Tel 3Tk &1 994 Sifoig :

1. AW B C-ll DN

ol|o|w|e

| )

AL B C-lE DAV
3. A1 BN C-I D-IV

4. A1 B4 C-ll D-IV

Options :

686340157545. 1
686340157546. 2
686340157547. 3
686340157548. 4



Question Number : 88 Question Id : 68634039889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Media language generates and constitutes the social world.

Reason R: This is because it is not merely a channel of information. but also an integral part of our
experience.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

| Bl

. Both A and R are true but R is NOT the correct explanation of A
3. Aistrue but R is false
4. A is false but Ris true

Options :

686340157549. 1

686340157550. 2

686340157551. 3
686340157552. 4

Question Number : 88 Question Id : 68634039889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 3 A QU U T : U UHYT (Assertion A) T Y T 1RG0 ¢ 01 G811 39S BRI (Reason R) F
F0H .

SfUHYT A: TSTr BT U1 gEifsies fay &1 e g 11dd Pl o
SRV R: TI1 3T & Fifes g 91 Yo &1 9 o] & S 76 GHR Sy BT S4fir 3 :f 81
Sudad Bl & e 1, [3U T [deed] & 3 95 IR &1 904 SIu;

1. A 3R R 2 98 € $iR R. A D] el TR 8

2. AR REFT TS € 3R R, A ] UEt AR T

3.AGU e APIR 3TAT

4 AT APIRTAR

Options :
686340157549. 1
686340157550. 2



686340157551. 3
686340157552. 4

Question Number : 89 Question Id : 68634039890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Development reporting has the element of

1. Bias

-2

. Modelling

LF5]

. Repetition
4, Advocacy

Options :

686340157553 1
686340157554.2
686340157555. 3
686340157556. 4

Question Number : 89 Question Id : 68634039890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faramRe (Sacude) Ruifén § Fafifiad 5 9 &9 9 d@ sl 82
. qats

2. ufde=yguy @rsfam
4. UGt

Options :

686340157553. 1
686340157554. 2
686340157555. 3
686340157556. 4

—

[#¥]

Question Number : 90 Question Id : 68634039891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify which of these options is/are correct.

A. World Earth Day -22 Apnil

B. Anti- Terrorism Day -21 May

C. International Youth Day -13 August
D. Indian Air Force Day - 9 October

Choose the correct answer from the options given below:
1. A.B and C only
2.B. Cand D only
3.Cand D only

4. A and B only

Options :

686340157557. 1
686340157558. 2
686340157559. 3
686340157560. 4

Question Number : 90 Question Id : 68634039891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify which of these options 1s/are correct,

A. oy 7ot g -22 alid
B. Ad@marg fadidt fdag 21 13

C. SARIY gal f4ay -13 ST
D. YR arg 91 fdad - 9 faeay

=i fau g fmedl 5 € wEl ST @l T @i
1. #ad A, B3R C
2. $qdB.C HRD
3.%ad C IRD
4. $aAA AR B

Options :

686340157557 1
686340157558. 2
686340157559. 3
686340157560. 4

Question Number : 91 Question Id : 68634039892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1
Which state of North-East India will get a first of its kind Fish Museum?

1. Assam

J

. Mizoram
3. Nagaland

4. Arunanchal Pradesh

Options :

686340157561. 1
686340157562. 2
686340157563. 3
686340157564. 4

Question Number : 91 Question Id : 68634039892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gaR YR & 4§ 9 & I &1 301 0¥ &1 Ueal 5o S9siad U i
1. 3
REEice)
3. AFTCS

4. SFBUIEE W

| )

Options :

686340157561. 1
686340157562. 2
686340157563. 3
686340157564. 4

Question Number : 92 Question Id : 68634039893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

identifies what time and days you sent an email, the subject of that email and even the type of device
you used to send 1t.

1. Algorithms
2. Virtual Reality
3. Data Journalism

4, Meta Data

Options :



686340157565. 1
686340157566. 2
686340157567. 3
686340157568. 4

Question Number : 92 Question Id : 68634039893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofeiad o T o 9108 UegF &4 & & o9 frg gmg ik fpa fea ves Saa Ol siR uef do '
Y- 59 HoH & foiv &9 UHR & 97 &1 wan fear ue

 TEfRE

. STHET gured
3. Sl gASGIT
4. HeTscl

Options :

686340157565. 1

686340157566. 2

686340157567. 3
686340157568. 4

—t
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Question Number : 93 Question Id : 68634039894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the case in which the Supreme Court ruled that air waves are not the monopoly of the Indian
Government for the telecast of the Hero Cup 1994,

1. MIB Vs Cricket Association of Bombay

| B

. MIB Vs Cricket Association of Delhi
3. MIB Vs Cricket Association of Bengal
4. MIB Vs Cricket Association of Kerala

Options :

686340157569. 1
686340157570. 2
686340157571. 3
686340157572. 4

Question Number : 93 Question Id : 68634039894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FaAfeiad o § 39 &4 31 Uga Sifog [ 8R1 &Y 1094 & <1 df TR0 & Hae § Hale Ararad |
T35 o e o1 o arg el TR YRd IRPR &1 USSR 76l 6 -

T3S g1 fihdre THIRURH 3HTF g
2. TH3MS ! 97 fobdre waifioe i faeet
3. UH3Tsd! g1 fipdhe TAIRIURH 31 S
4. THTE ! g fdhdhe TfiueE 3ffe o

Options :

686340157569. 1

686340157570. 2

686340157571. 3
686340157572. 4

—

Question Number : 94 Question Id : 68634039895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Corals are an endangered marine species and protected under Schedule 1 of Wildlife Protection
Act 1972,

Statement Il: Rhizangiidae, Caryophylliidas are the names of coral families, were recently in news as the
Maharashtra Government gave permission to translocate some coral families in order to build a coastal road
to ease traffic congestion.

In the light of the above statements. choose the correct answer from the options given below,

1. Both Statement | and Statement |l are correct

J

. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

686340157573. 1
686340157574.2
686340157575. 3
686340157576. 4

Question Number : 94 Question Id : 68634039895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fl’l%?ﬂiﬁwﬁqm%

WI%W(@WJWWWW%@?MHH?&W 3 IE-1072 BT 3G -1 & iarid
e

P 11: Resifie, SRAPERE o Jm oRkar & 74 § o 10 & TER § 4 w1ie WPR A
ATTATd &1 I a1 & (00 U9 dedd 9S& A0 5d TS W ORaR] &1 Saidre &= & i af
o

SWad Sl & e U, fau T fasedl O I 981 3R &1 904 DI
1. @Y1 AR 11 S gel 8

2 FYT IR IS Tad &
3. FYT I Tel B afT sy 1 TTad ©
4. BYF AT . Al B I TEI §

Options :

686340157573. 1
686340157574. 2
686340157575. 3
686340157576. 4

Question Number : 95 Question Id : 68634039896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Satyajit Ray's film 'Charulatha' is based on a story taken from Rabindranath Tagore.

Statement II: Satyajit Ray made the film 'Devi' from the story taken from Rabindranath Tagore.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement |l are correct

| S

. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

686340157577. 1
686340157578. 2
686340157579. 3
686340157580. 4



Question Number : 95 Question Id : 68634039896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fHgsuERume.
Y 1: TIoid ¥ 3! (e Ireadn Aas—1y TR G o 75 Th S IR 1R 8

BYF I1: TAId 2+ AG51Y SR B U S ad gar e g915 i
Sie Sl & ATdlE® 1, U T fawedl & 9 981 3R &1 994 S
1. B SR 11 31 Uel ©

2. HYTI AR SH Tad &
3. FUTI TSI &, AT FYT N TEd ©
4. U T B, Afh U 1 TS §

Options :

686340157577. 1
686340157578. 2
686340157579. 3
686340157580. 4

Question Number : 96 Question Id : 68634039897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify which of the following options is /are correct.

A, The theme of the G-20 summit 2023 taking place in India ig - 'One Earth. One family, One Future',
B. G-20 was established in the yvear 1999.

C. Smgapore is not a member of G-20.

D. First Summit of G-20 was held in France.

Choose the correct answer from the options given below:
1.B.Cand D only
2.A.CandD only
3.A.Band C only
4. A, B and D only
Options :
686340157581. 1

686340157582. 2
686340157583. 3



686340157584. 4

Question Number : 96 Question Id : 68634039897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

F9 d O ge! [amodl &1 UgdH SIve:

A, YRA T 813 of-20 R 99904 202391 fawg a5 8- U% 12dt, U uRaR. U@ wfaw |
B. Si1-20 @1 RITTT 9 1999 H g 41|

C. [EgR wil-20 BT IG5 5 |

D. Sil-20%T UYH ARG JHIe Wi O SAifeTd g3 4T

12 g e fwed! © 9§ B8 o @ I B
1. ¥4 B, C AR D
2. PAAA. C 3R D
3.PaUA B IR C
4. PFAA. B AR D

Options :

686340157581. 1
686340157582. 2
686340157583. 3
686340157584. 4

Question Number : 97 Question Id : 68634039898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange correct sequence Chairmanship of Press Council of India beginning from the First.

A. Justice R.S Sarkaria
B. Justice P.B Sawant
C. Justice AN Sen

D. Justice G.N. Ray

Choose the correct answer from the options given below:

1.C.A.B.D

| ]

CAB.C.D

C.B.A.D

L¥¥]

4.D.C.A.B

Options :
686340157585. 1
686340157586. 2



686340157587. 3
686340157588. 4

Question Number : 97 Question Id : 68634039898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR U ORNg & Fafciiad sieiell @ 95t 3FhH &1 Ugdr Hifuu-

i feu T famed § © O] S8 @1 90 S
1.C.A.B.D
2.A,B.C,D
3.C.B.A.D
4.D.C.A.B

Options :

686340157585. 1
686340157586. 2
686340157587. 3
686340157588. 4

Question Number : 98 Question Id : 68634039899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: ldentify the correct statement with reference to Representation of People
Act-1951:

Statement I: This Act makes provisions for the conduct of elections in India.

Statement Il: It also talks about the qualifications as well as grounds for the disqualification of Members of
Parliament and Members of Legislative Assembly.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement |l are correct

2

. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4, Statement | is incorrect but Statement Il is correct

Options :
686340157589. 1



686340157590. 2
686340157591. 3
686340157592. 4

Question Number : 98 Question Id : 68634039899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS puafiumg .
die wfafAfta ffFga. 1951 & 954 3 Ut oya &1 uggH Sl

S I 59 e § yRa § Fates & Sawes g wauH R gl
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l
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HUYT 1 TG T, TftpT SYT 11 70 §
4. PUT I B, AT BUT T HE &

[#¥]

Options :

686340157589. 1
686340157590. 2
686340157591. 3
686340157592. 4

Question Number : 99 Question Id : 68634039900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Assertion A: Conflicts arise among individuals when there is an imbalance in interpersonal communication.

Reason R: If people take care of communication by using good and positive words in language. conflicts
subside.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R is NOT the correct explanation of A

%]

. A is true but R is false

4. A is false but R is true

Options :

686340157593. 1
686340157594. 2
686340157595. 3
686340157596. 4

Question Number : 99 Question Id : 68634039900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 3 A QU U T : U UHYT (Assertion A) T Y T 1RG0 ¢ 01 G811 39S BRI (Reason R) F
F0H .

SHTUBYT A: 3id: Julad® U0 T e o UR Afdadl & did 65 SUA 6ld o
PRUTR: IS TN 419 T 3f=8 d RIS Yea] BT YA B3 BT 4 36, Al g 1 Bl &l 8
Sudad Bl & e 1, [3U T [deed] & 3 95 IR &1 904 SIu;

1. A 3R R 2 98 € $iR R. A D] el TR 8

2. AR REFT TS € 3R R, A ] UEt AR T

3.AGU e APIR 3TAT

4 AT APIRTAR

Options :

686340157593. 1
686340157594. 2
686340157595. 3
686340157596. 4

Question Number : 100 Question Id : 68634039901 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: Shutter speed is responsible for:
Statement I: Changing the brightness of your photo.

Statement Il: In case you are photographing with a 100 mum lens a 1/10 second shutter speed is the best to use
tor capturing birds in flight.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement |l are correct

| )

. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4, Statement | is incorrect but Statement |l is correct

Options :

686340157597. 1
686340157598. 2
686340157599. 3
686340157600. 4

Question Number : 100 Question Id : 68634039901 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS pufumg .
e Wts g § & fpg / {9 & fore sagrdt &

PYAL: A0 D BIel B S & Ul

Y I1: Tf 3T 100 TH TH &F & 1Y BIel Wi e § df 3od Uem] &1 Biel o+ & o 1710 T8 92
wftg &1 var gdaH 2

Sudad PUHl & el 1, [3U MU fdwed] & 3 98l IR &1 994 SIfs;
1. PRI T8 8

2. HYTI SR 1 S Tad &
3. BYTI el B Al ey nad ©
4. BUYT AT 6. AfT YT 1 981 &

Options :

686340157597. 1
686340157598. 2
686340157599. 3
686340157600. 4






